(DBCO 13)

B.Com. DEGREE EXAMINATION, MAY - 2015
(Examination at the end of First Year)
Part - I : COMMERCE

Paper - I : Industrial Organisation and Management

Time : 03 Hours Maximum Marks : 80
Section - A (4 x 4=16)

Answer any Four of the following

1)  What is meant by Industry? Explain different types of Industries.
58> ©0€3 AW ? SBFS- B5POR BevySoo.

2) HUF.
DS PO HEDOBIN.

3)  Kinds of partners.
PO B5POR DE°) DI

4)  Discuss the need for issuing prospectus.

SBIAH S|S0 &8 eSEEEI Bewyin.

5 What is meant by “optimum firm”?

wdoSBoH 903 @063 De3?

6) What is a multinational company?

TG ePAAD €0 @03 DMe3?

7)  Delegation of authority.
P8 BB,

8)  Name the components of capital market.
S0 $0°8),656°) @D D700



Section - B (2 x 8=16)

Answer any Two of the following

9)  Define partnership. Discuss various advantages and disadvantages of partnership form of
organization.

RPN DBDOD, FToHReGdS S0 FATeT e Srod doy0&.

10) Describe the negative factors of allowing multinationals in a country.

2IVTEB Joge S0 8508 (580 [Sgrasoven K8y DSBoBod.

11) What do you understand by working capital? Explain the various factors influencing working
capital.

DB gPes oS0 @0E3 D3 ? AT DO, (HgAs0 I IV seEzPOD éebo&.

12) How far planning is useful to the management?

(5e3°0% ©0E3 IS ? (SeVEen VBT IDFom™ &' thytsa™on?

Section - C (3 x 16 = 48)

Answer any Three of the following

13) Distinguish between public limited and private limited.

14) 1s management a “science” or an “art” discuss.

ASPEs “TPI? S “50°” DSBOHE.

15) What are the problems facing by Small Scale Industries (SSIs)?
D5 BEIF SBES0e0 IBE);080%) DI JBgOR Hr°8y 3803082

16) What do you understand by line organization? Describe its merits and demerits of line
organization?

S 3553 OIMTPIW? B S5 0¥, SAArBAred S*Fro dey0k.
o 578 = % o

17) What do you mean by delegation of authority? Discuss various elements of delegation.

OFSE (SN0 @063 I3 ? PSS IGO0 G0 DG WOT O DB .
18) Discuss the role of private sector in Indian Economy.
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g 97 <97



